

2022 measurement year

Comparison of average utilization for commercially insured patients and the average statewide utilization for patients with the same clinical risk (Expected value). Values are listed as "per 1,000 patients" to allow for comparisons of medical groups of different sizes and describes how many services would happen within a 12 month period.

	PRIMARY CARE VISITS			SPE	CIALTY VIS	SITS	PHARMACY USE			GENERIC
GROUP NAME	Actual	Expected	Ratio	Actual	Expected	Ratio	Actual	Expected	Ratio	RX USE
AALFA Family Clinic	2,618	2,718	0.96	1,520	1,647	0.92	12,177	14,517	0.84	89.9%
All About Children Pediatrics -										
Children's Health Network	2,562	2,489	1.03	1,309	1,168	1.12	7,366	6,644	1.11	86.9%
Allina Health	2,799	2,725	1.03	1,948	1,943	1.00	20,746	19,890	1.04	89.3%
Alomere Health	2,743	2,598	1.06	1,147	1,660	0.69	14,387	16,299	0.88	90.8%
Altru Health System	3,070	2,631	1.17	1,135	1,762	0.64	17,790	17,186	1.04	87.9%
Amery Hospital and Clinic	2,188	2,495	0.88	1,608	1,735	0.93	19,705	18,741	1.05	93.8%
Avera Medical Group - Granite	2.700	2.476	1 10	1 100	1.524	0.70	10.007	10.150	1 12	02.50/
Falls Health Center	2,790	2,476	1.13	1,109	1,534	0.72	18,097	16,156	1.12	92.5%
Avera Medical Group -	2.052	2.004	1.00	016	1 740	0.52	10.204	10,000	1.00	00.00/
Pipestone	2,852	2,694	1.06	916	1,746	0.52	18,294	16,988	1.08	90.8%
Avera Medical Group-										
MCGREEVY CLINIC, United	2 ((2	0.747	0.98	1,710	1,840	0.02	20,236	10 201	1.11	00.40/
Medical Center, Worthington	2,663	2,717				0.93		18,301		88.4%
Speciality Clinic										
CCM Health	2,816	2,649	1.06	1,368	1,708	0.80	18,107	17,389	1.04	88.7%
CentraCare Health	2,460	2,727	0.90	1,469	1,909	0.77	17,491	18,657	0.94	91.3%
Central Pediatrics	3,068	2,890	1.06	1,598	1,303	1.23	6,182	5,877	1.05	86.2%
Child and Teen Medical	2 220	2.500	1.29	1,075	1,096	0.98	4,985	F 142	0.07	89.6%
Center	3,320	2,580						5,142	0.97	
Children's Clinic Network	3,182	2,769	1.15	1,249	1,230	1.02	5,796	5,599	1.04	88.6%
Children's Minnesota	3,421	3,168	1.08	2,928	2,008	1.46	13,639	8,790	1.55	67.0%
Clinic Sofia Ob/Gyn	2,675	2,853	0.94	1,935	1,711	1.13	13,655	16,113	0.85	91.3%
Community Memorial	2.055	2 507	1.06	1 260	1 702	0.76	10 /1/	20.107	0.07	89.3%
Hospital	2,655	2,507	1.06	1,360	1,782	0.76	19,414	20,107	0.97	89.3%
Community University Health	2,859	1,992	1.44	1,577	1,260	1.25	12,224	13,951	0.88	85.6%
Care Center	2,039	1,992	1,44	1,377	1,200	1.23	12,224	13,931	0.00	63.6%
Cuyuna Regional Medical	2,893	2,833	1.02	1 /00	2,030	0.73	17,857	19,633	0.91	89.8%
Center	2,093	2,033	1.02	1,488	2,030	0.73	11,001	19,033	0.91	09.0%
Dulcimer Medical Center	2,603	2,411	1.08	959	1,488	0.64	14,532	15,313	0.95	88.0%
Eagan Valley Pediatrics	2,767	2,735	1.01	1,441	1,285	1.12	7,460	6,215	1.20	88.7%
Edina Sports Health &	2 507	2 600	0.97	2,231	2,067	1.00	22.640	23,440	0.97	00.70/
Wellness	2,597	2,689	0.91	2,231	2,007	1.08	22,648	23,440	0.91	89.7%
Entira Family Clinics (formerly	2 672	2 556	1 OF	1 900	1,823	1.04	22.060	10.000	1 10	00.20%
Family Health Services MN)	2,673	2,556	1.05	1,890	1,023	1.04	22,060	19,980	1.10	90.3%
Essentia Health - Central	2,715	2,715 2,643	1.03	1,475	1 927	0.81	19,091	18,017	1.06	90.2%
Region					1,827				1.06	
Essentia Health - East Region	2,666	2,632	1.01	1,633	1,808	0.90	20,328	18,152	1.12	88.4%
Essentia Health - West	2,951	2,665	1.11	1,533	1,788	0.86	19,180	16,974	1.13	88.8%
Fairview Health Services	2,590	2,704	0.96	2,028	1,892	1.07	19,516	18,830	1.04	87.6%
Fairview Mesaba Clinics	2,920	2,816	1.04	1,562	1,984	0.79	20,255	19,640	1.03	89.6%



2022 measurement year

Comparison of average utilization for commercially insured patients and the average statewide utilization for patients with the same clinical risk (Expected value). Values are listed as "per 1,000 patients" to allow for comparisons of medical groups of different sizes and describes how many services would happen within a 12 month period.

CDOUDNAME	PRIMARY CARE VISITS			SPECIALTY VISITS			PHARMACY USE			GENERIC
GROUP NAME	Actual	Expected	Ratio	Actual	Expected	Ratio	Actual	Expected	Ratio	RX USE
Family Health Care of	2 1 42	2.000	1 10	1 704	2 105	0.05	20 211	21.072	1 20	00.40/
Siouxland	3,142	2,869	1.10	1,794	2,105	0.85	26,211	21,872	1.20	90.4%
France Avenue Family	2 510	2 420	1.02	2 200	1 004	1.20	21 400	20.000	1.02	00 E0/
Physicians	2,519	2,438	1.03	2,309	1,804	1.28	21,409	20,696	1.03	88.5%
Gateway Family Health Clinic	2,881	2,486	1.16	1,150	1,654	0.70	17,574	16,406	1.07	89.9%
Glencoe Regional Health	2.740	2,643	1.04	1 400	1 750	0.80	10 504	17 OOF	1.00	88.9%
Services	2,740	2,043	1.04	1,400	1,759	0.60	19,584	17,895	1.09	00.9%
Glenwood Medical Center	2,707	2,549	1.06	948	1,656	0.57	15,057	16,077	0.94	91.3%
Grand Itasca Clinic	2,694	2,683	1.00	1,309	1,756	0.75	18,701	17,468	1.07	90.5%
Grow Pediatrics	3,175	2,905	1.09	1,099	1,072	1.02	3,353	4,737	0.71	86.7%
Gundersen Health System	2,633	2,539	1.04	1,245	1,669	0.75	16,209	17,934	0.90	88.4%
HealthPartners Clinics	2,359	2,623	0.90	2,296	1,789	1.28	17,928	18,139	0.99	91.1%
Hennepin Healthcare	3,135	2,842	1.10	2,012	2,015	1.00	20,000	18,968	1.05	85.0%
Hudson Physicians	2,649	2,590	1.02	1,440	1,640	0.88	14,104	15,442	0.91	92.8%
Hutchinson Health	2,367	2,587	0.92	1,519	1,713	0.89	17,565	16,940	1.04	93.1%
Infinite Health Collaborative	2,588	2,718	0.95	1,971	1,783	1.11	15,593	18,303	0.85	89.8%
Kittson Healthcare Clinic	3,455	2,609	1.32	1,151	1,811	0.64	18,624	18,749	0.99	89.8%
Lake Region Healthcare	2,639	2,673	0.99	1,328	1,830	0.73	18,431	18,266	1.01	91.0%
Lake View Clinic - Two	2 412	2.450	0.98	1 5 4 7	1.005	0.02	10 100	17.057	0.00	88.1%
Harbors	2,413	2,456	0.96	1,547	1,665	0.93	16,160	17,857	0.90	
Lakeview Clinic	2,657	2,568	1.03	1,411	1,602	0.88	15,130	15,937	0.95	90.5%
Lakewood Health System	3,075	2,731	1.13	1,168	1,751	0.67	15,256	16,322	0.93	90.5%
Mankato Clinic, Ltd.	2,989	2,739	1.09	1,357	1,840	0.74	14,107	16,791	0.84	88.6%
Mayo Clinic	3,282	2,709	1.21	2,180	2,061	1.06	14,573	19,849	0.73	87.7%
Mayo Clinic Health System -	2 771	2.526	1.00	1 220	1 71 4	0.70	10 500	17.000	0.00	00.20/
Fairmont	2,771	2,536	1.09	1,329	1,714	0.78	16,562	17,296	0.96	90.2%
Mayo Clinic Health System -										
Franciscan Healthcare in La	2,625	2,488	1.06	1,432	1,720	0.83	19,489	18,786	1.04	89.9%
Crosse										
Mayo Clinic Health System -	2.024	2 205	0.05	1 750	1 524	1 15	17.026	15 764	1 14	00.00/
Northwest Wisconsin Region	2,024	2,395	0.85	1,759	1,534	1.15	17,936	15,764	1.14	89.9%
Mayo Clinic Health System -	2.770	2.420	1.14	1 220	1 520	0.00	15 556	10.000	0.04	00 50/
Southeast Minnesota Region	2,770	2,438	1.14	1,226	1,539	0.80	15,556	16,629	0.94	89.5%
Mayo Clinic Health System -	2.074	2.574	4.40		1 775					00.40/
Southwest Minnesota Region	2,874	2,574	1.12	1,439	1,775	0.81	17,475	18,371	0.95	89.1%
Meeker Memorial Hospital &	2.561	2.567	1.00	1 000	1.000	0.64	10.040	17.074	1 14	02.20/
Clinics	2,561	2,567	1.00	1,092	1,699	0.64	19,649	17,274	1.14	92.2%
Mendakota Pediatrics Ltd	3,452	2,808	1.23	1,204	1,117	1.08	5,673	4,945	1.15	90.3%
Mille Lacs Health System	2,989	2,646	1.13	1,303	1,856	0.70	23,259	20,032	1.16	93.3%
Minnesota Women's Care	3,214	3,019	1.06	2,379	2,067	1.15	17,953	20,943	0.86	90.7%
North Memorial	2,470	2,534	0.97	1,901	1,802	1.05	19,776	19,176	1.03	88.4%



2022 measurement year

Comparison of average utilization for commercially insured patients and the average statewide utilization for patients with the same clinical risk (Expected value). Values are listed as "per 1,000 patients" to allow for comparisons of medical groups of different sizes and describes how many services would happen within a 12 month period.

GROUP NAME	PRIMARY CARE VISITS			SPECIALTY VISITS			PHARMACY USE			GENERIC
	Actual	Expected	Ratio	Actual	Expected	Ratio	Actual	Expected	Ratio	RX USE
Northern Lights Pediatric and	2 772	2.644	1.05	1 220	1 202	1.00	C 721	C 207	1.00	86.6%
Adolescent Medicine	2,773	2,644	1.05	1,329	1,302	1.02	6,721	6,207	1.08	80.0%
Northfield Hospital + Clinics	2,488	2,636	0.94	1,410	1,630	0.86	15,648	15,915	0.98	90.4%
NorthPoint Health & Wellness	2 502	2,011	1.28	1 /20	1 21/	1.00	12 572	12 7/17	0.00	OE 20%
Center	2,583	2,011	1.28	1,438	1,314	1.09	13,573	13,747	0.99	85.3%
Northwest Family Physicians	2,377	2,381	1.00	1,654	1,688	0.98	20,907	20,086	1.04	90.4%
Olivia Hospital & Clinic	2,798	2,613	1.07	1,159	1,735	0.67	15,870	16,666	0.95	91.5%
Olmsted Medical Center	2,703	2,476	1.09	1,177	1,549	0.76	12,962	16,408	0.79	90.1%
Ortonville Area Health										
Services-Northside Medical	2,919	2,697	1.08	1,311	1,732	0.76	16,329	16,795	0.97	91.4%
Clinic										
Park Nicollet Health Services	2,523	2,720	0.93	2,250	1,872	1.20	18,642	18,871	0.99	90.2%
Parkview Medical Clinic -										
Minnesota Healthcare	2,967	2,514	1.18	1,426	1,690	0.84	17,613	17,382	1.01	90.7%
Network										
Pediatric & Young Adult	2 720	2.070	0.05	1 (25	1 522	1.07	7 720	7 240	1.05	00.00/
Medicine	2,730	2,878	0.95	1,635	1,523	1.07	7,730	7,340	1.05	88.6%
Pediatric Services - Children's	2.027	2,692	1.00	1 441	1 172	1 22	6 262	E 670	1 12	86.9%
Physician Network	2,927	2,092	1.09	1,441	1,173	1.23	6,362	5,670	1.12	86.9%
Perham Health	2,504	2,556	0.98	1,141	1,636	0.70	14,954	16,093	0.93	91.9%
Planned Parenthood										
Minnesota, North Dakota,	1,811	1,846	0.98	1,436	994	1.45	9,913	10,769	0.92	89.5%
South Dakota										
Premier OB/GYN of Minnesota	2,569	2,700	0.95	1,819	1,608	1.13	13,377	15,947	0.84	90.0%
Richfield Medical Group	2,791	2,660	1.05	2,051	2,026	1.01	23,990	22,450	1.07	86.8%
Ridgeview Clinics	2,476	2,458	1.01	1,704	1,711	1.00	19,006	18,698	1.02	89.3%
RiverView Health	2,818	2,629	1.07	1,342	1,780	0.75	15,839	17,710	0.89	90.0%
Riverwood Healthcare Center	2,942	2,622	1.12	1,252	1,860	0.67	19,494	20,212	0.96	90.9%
Rural Health Care, Inc	2,769	2,704	1.02	1,056	1,702	0.62	11,842	15,902	0.74	91.2%
Sanford Health	2,755	2,704	1.02	1,410	1,875	0.75	17,989	17,983	1.00	89.8%
Sartell Pediatrics - IHN	3,027	2,793	1.08	1,114	1,303	0.85	5,777	5,630	1.03	90.0%
Sawtooth Mountain Clinic	2,585	2,262	1.14	889	1,431	0.62	14,659	16,109	0.91	91.3%
Scenic Rivers Health Services	2,830	2,464	1.15	1,098	1,669	0.66	19,011	18,878	1.01	89.5%
Sleepy Eye Medical Center	2,346	2,314	1.01	955	1,369	0.70	10,994	14,882	0.74	87.3%
South Lake Pediatrics	3,405	3,031	1.12	1,155	1,384	0.83	5,999	6,156	0.97	86.7%
Southdale Pediatric	3,171								1.02	
Associates, Ltd		3,171	2,905	905 1.09	1,382	1,299	1.06	6,224	6,023	1.03
St. Croix Regional Medical	2 /12	.3 2,567	0.94	1,706	1,778	0.96	18,708	18,499	1.01	91.3%
Center	2,413									
St. Luke's Clinics	2,486	2,604	0.95	1,612	1,755	0.92	18,660	18,044	1.03	87.3%
Stellis Health, PA	2,546	2,422	1.05	1,261	1,530	0.82	15,476	15,821	0.98	90.4%



2022 measurement year

Comparison of average utilization for commercially insured patients and the average statewide utilization for patients with the same clinical risk (Expected value). Values are listed as "per 1,000 patients" to allow for comparisons of medical groups of different sizes and describes how many services would happen within a 12 month period.

GROUP NAME	PRIMARY CARE VISITS			SPECIALTY VISITS			PHARMACY USE			GENERIC
	Actual	Expected	Ratio	Actual	Expected	Ratio	Actual	Expected	Ratio	RX USE
Stevens Community Medical Center	2,738	2,488	1.10	1,258	1,573	0.80	15,304	15,171	1.01	88.0%
Swift County Benson Health Services	2,535	2,380	1.07	1,232	1,506	0.82	17,690	16,017	1.10	92.6%
Synergy Family Physicians, P.A	2,509	2,562	0.98	1,808	1,576	1.15	11,080	14,393	0.77	86.4%
Tri-County Health Care	2,733	2,558	1.07	1,043	1,716	0.61	17,995	17,349	1.04	88.8%
United Family Medicine	3,047	2,520	1.21	1,725	1,846	0.93	21,487	19,323	1.11	90.5%
United Hospital District Clinic	2,860	2,640	1.08	1,386	1,774	0.78	18,304	17,740	1.03	90.0%
Unity Family Healthcare, Family Medical Center	2,435	2,563	0.95	1,254	1,679	0.75	17,247	16,758	1.03	92.3%
University of Minnesota Physicians	2,839	2,585	1.10	2,083	1,961	1.06	20,280	20,049	1.01	86.0%
Voyage Healthcare	2,600	2,605	1.00	1,868	1,865	1.00	20,306	20,769	0.98	90.6%
Wayzata Children's Clinic	3,248	2,873	1.13	1,212	1,266	0.96	5,670	5,542	1.02	88.6%
Welia Health	2,548	2,564	0.99	1,409	1,710	0.82	18,081	17,418	1.04	89.5%
West Side Community Health Services	2,775	2,132	1.30	1,372	1,315	1.04	17,001	16,166	1.05	81.2%
Western Wisconsin Health	2,555	2,724	0.94	1,651	1,754	0.94	15,545	15,827	0.98	91.1%
Westfields Hospital and Clinic	1,831	2,562	0.71	2,170	1,705	1.27	18,010	17,511	1.03	93.1%
Winona Health Services	2,484	2,494	1.00	1,100	1,591	0.69	13,622	17,526	0.78	90.9%